Solution Sample to HW3

Monday, February 16,2015
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In this last question it is not entirely clear if the order of the groups matter or not.

If it mattered, then the answer would be as above. If it doesn't, then you'd have to divide by 4!
Both answers will be accepted as correct

Also, extra exercise 3 will be graded, see the solution attached separately.
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In this last question it is not entirely clear  if the order of the groups matter or not.  
If it mattered, then the answer would be as above. If it doesn't, then you'd have to divide by 4!.
Both answers will be accepted as correct 
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Also, extra exercise 3 will be graded, see the solution attached separately.
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